
Problem Set 11

Econ 702, Spring 2005

Problem 1 In the model with one-side lack of commitment, the value of con-

tract to grandmother is P (V ) if she promised V to her granddaughter.

P (V ) = max
{cs,ωs}Ss=1

∑

s

Πs[(ys − cs) + βP (ωs)]

subject to

u(cs) + βωs ≥ u(ys) + βV
A ∀s

∑

s

Πs[u(cs) + βωs] ≥ V

Show that there exits a V such that P (V ) > 0, i.e. there exist gains from
trade.

Problem 2 In model with one-side lack of commitment, when granddaughter

gets the best shock yS, the best autarky value conditional on current shock is

VAM = u (yS) + βVA

Define cS such that

VAM =
u (cS)

1− β

Show cS < yS.

Problem 3 Consider the two sided lack of commitment problem. Show that

both participation constraints cannot bind simultaneously.
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